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6|dtiEE [EFHT 0.0 10
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14[dtEE wILh 38.5 1,150
15[dtmE &= I BT 15 60
16[dtE8 BT 2.5 100
17[dbiEE O MHET 0.0 0
18[dbiEE AB)I| 68.0 1,900
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22|dtiEE LAl 11.5 420
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24|dtiEE & )Ith 10.5 370
25|dtiEE Beath 6.0 210
26|31t ;@3 Z 1.5 60
27]3t:E;3 GG 5.0 60
28|31t @3 HAT 6.5 200
29|31t 83 HWEM 7.5 350
30/3k @3 EMEH 3.5 80
31]3kiE;3 ESdi] 1.0 40
32|3tiE;3 FIR BT 0.5 10
33[dt:E FEMT 3.5 120
34|31t i@ =/ 30.5 1,070
354t 83 FEH 1.0 40
36|3k @3 #IER™H 33.5 860
37/dtiEE Il 2% BT 1.5 0
38|dtimE =il 3.5 100
I|EHE O 4.0 120
0| 5HE E i 0.0 20
NEHE J\Bth 34.0 790
2| 5HE shEITH 21.0 590
3 EHE H&H&M 29.5 560
UEFE —BEmh 25 80
45| 5F 8 A#EH 1.0 0
46| 5F & btk 5.0 160
47| 5F 8 KHEHT 0.5 50
48| =5F8 BN 5.5 250
H=FE LL| FH T 0.5 30
50 5F & RE [ T 31.0 740
511 5F8 1EE™H 3.0 170
52l 5aF & =T 1.0 60
5| =F8 £RTH 3.0 90
54| EiBE iLEH 1125 1,780
55| EiRIE SALB™H 55 160
56| =i IE =Rkl 3.0 90
57| =WE A&t 145 320
58|FAHIE L ET 1.0 60
59|FAHIR KAl 45 190
60| FAHIE KEET 6.5 200
61|FAEHIE BFh 3.0 150
62| FAHE HiR™ 25 210
63| FAHIZ HFIXES 4.0 110
64|FAHIE HEH 455 1,670
65| FAHIE BERTH 3.0 100
66[LLUFZE L 3.0 150
67| L8 EACh 25 190
68[ LUz & XEH 25 130
69| LR IE A 16.5 530
70|l IR ET 4.0 110
T1ILUEE KRt 11.0 800
IAMEAS SBEET 8.0 230
13| LU E#ri 3.0 190
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81| XIWE KIEH 16.0 400
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84| kIR WFEH 10.5 370
85|k IR AT 45 210
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98| XKIWIE BE~ G 3.5 160
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107[#RKE AT 6.5 260
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1M1|EEER KR HET 9.0 230
112|3EE AHETH 7.5 160
113[BEE EESN 8.5 230
114|3EE BHET™ 5.0 210
15| ER fEMTH 8.0 380
116|1IF5EE SLV=FETh 107.5 3,440
MIEER SUAETH 45 230
118iIFER = 15.0 390
19I5 ER AET 6.0 290
12058 FEHE 15 90
121IFFR AfEh 45 130
122|115 F 2 Nz 45 210
123|115 E R | ] 7.0 320
12415 F 8 Sl 2.0 70
125|158 ¥ 7.0 200
126|115 E R = KHT 35 140
127|115 E 18 HIEET 1.5 40
128|115 E R EXRmM 6.0 280
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235[fE)IE YAEET 15 50
236[fE)IIE EAEEN 56.5 1,780
237[fEI)IE mELTH 10.5 320
238[fEIIIE HEEHT 1.0 80
239[fEIIIE E 50 20.5 790
240[fE)IE %EH™H 12.5 330
241 [fE)IIE I LT 5.0 160
242 HZS )| 12 iR 45.5 1,760
243[fE)IE EFh 8.0 250
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248|FiB 15 AR™ 3.0 210
249|FiBE EET 0.5 20
250|385 nEh 4.0 170
251|#FBE +BHEH 25 150
252|FTAE maaTm 1.5 70
253|388 we™h 2.5 130
254|815 INFBTH 3.0 150
255|388 Fiam 90.0 3,180
256 (B IR FEEA™H 8.0 340
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258|#FiBE #eth 3.5 160
259(FiB IR Ha)H 55 220
260|388 8 BFh 25 170
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263[E IR AEH 1.0 60
264[= IS ERTh 25 140
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266[= IR gtkh 6.0 460
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268[E I BT 15 200
269[E LI =t 215 700
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279|HJIE wE™ 2.0 60
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340| B3 & HEIZ 25 110
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355 | B¢ IR KRHET 0.0 10
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369| AR INETH 16.5 620
370[ZFE EENETH 8.0 280
371[ZxE [if] & T 415 1,670
372[ZRE =BT 45 240
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374|Z5HE E L) 15 80
375|ZHE ¥RETH 45 140
376|ZRE ook o} 15 100
377|ZHE TR SR BT 4.0 240
378|ZRE i 2.0 80
379[ZHRE H#Et 3.0 130
380|Z51E EBHH™ 35.5 1,420
381|ZHNE BHET 3.0 70
382[Z AN EX A 24.5 490
383| AR ERERET 2.0 110
384|ZHE HEH 7.5 0
385| AR ;L™ 7.5 600
386 FNE -0l 3.0 400
387[ZxE HET 14.0 550
388|EFNE FNIIL] 6.0 220
389|ZHNIR &= B FH 45 130
390[Z%NE HIET 15 70
391[ZHRE ®MZh 145 320
392[ZFE N3rh 6.5 240
393[ZFNE ZEETh 14.5 400
394[ZxE FeRH 40 170
395| AR EXA] 1.5 110
396| AR EDal] 1.0 30
397|ZHE SEART 12.0 310
398|ZHE BETHT 25 170
399[ZFNE HET 12.0 460
400( 58 = LET 45 150
401 |Z5E ENI 16.0 600
402| Z51R Z8mh 8.0 260
403|Z51E Ehin 36.0 660
404| Z51R EAFH 0.5 30
405|Z51R =ETh 7.5 330
406|=F 1B G 3.5 120
407|=FE FEHh 11.5 550
408|=F 2 FET 35 110
409|=F B il 3.0 280
A10|=F 18 BHthth 44.0 1,340
AM1[=FE EEmh 3.0 230
A[=F B JI|#5 T 2.0 60
AMI=FE =L 2.0 90
414|=F B BT 12.0 400
415|=8 18 Z4mH 10.0 210
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A16|=F 12 REEFH™ 1.0 40
AM7|=FE 7R EFHT 2.0 60
418|=F B $HEET™ 245 740
49[HEE LU 5.5 420
420 E 8 ERH 115 540
a21|8 8 BT 4.0 250
422 E R EX T 45 270
423[#E R AT 45 60
24 EE HES 3.0 90
425 B8 5Em 11.0 480
426 E R T\ & 4.0 240
27 EE M h 2.0 130
428 E R KE™H 5.0 420
429 | TR EB AT At LU BT 3.0 90
430| SR EB AT SREH 7.5 460
431 | AR AT HFH 1.0 40
432| AR AT G ¥en: ditl 2.0 80
433 | AR AT mARTH 135.0 4,720
434 | TR EB AT INC 6.5 290
435 | AR AT 2Elth 45 50
436 | SR AR AT mfTH 15 60
437 | AR AT m Bt 55 180
438 | TR AR AT in 7.0 230
439 | AR AT K LI 5 BT 2.5 80
440 | TR EB AT Eenil 21.0 650
441 | T EB AT =2h 1.0 50
442 | TR EB AT K:ZI 2.5 110
443 | TR EB AT faEEmT 0.5 30
444 | TR EB AT EE™ 17.0 570
445 | TR EB AT KMEEH 9.5 240
446 | KR FF MR 15.0 1,040
447 | KR FF g™ 1.0 60
448| KR FF il 104.5 2,710
449| KBR KT KEH 12.0 470
450 KR FiF PN 220.5 4170
451 KPR FF NI 6.0 120
452 | KR FF AT 12.5 420
453| KBR KT BEEJIT 19.0 1,180
454 | KR FF W T 3.5 70
455 KR FF EMET 23.5 990
456 | KR FF B ARH] 3.0 40
457 | KR FF A [if] BT 4.0 260
458| KPR AT EZEh 12.0 370
459| KPR AT PNl 49.0 2,080
460 KB FF WA ™ 40.0 2,070
461 KR FF ARt 8.5 370
462 | KR FF MET 10.5 350
463 | KR FF AINEET 10.0 360
464 | KR FF RIEHTH 17.5 590
465 KR FF RE™ 11.0 270
466 | KPR AT RXKEH 12.0 720
467 | KR FF AEER AT 5.5 190
468 | KR FF H FRHET 2.0 0
469 | KR FF HEm@EH 135 710
470 KPR FF FREFH 12.0 600
471 | KB *ARH 27.0 850
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472| KB BHIFH 8.5 260
473| KB FF 28 1.5 70
474| KBRFF HiZm 13.0 660
475| KBR KT FMEd 12.0 510
476| KPR AT R mE 6.0 220
477 KBrFF ‘SE=hit] 11.0 250
478| EEIR f-2Dt 2.5 110
49| EER =Kt 3.5 110
480| EEIR FHH 23.0 950
481| EEE gt 14.0 550
42| EER NG ] 1.5 40
483| EEIR AFHT 1.0 110
484| EER BT 745 2,040
485 EEE B 46.5 1,460
486 EEE JIlFETH 18.0 690
487 EER S EEET 7.5 250
488| EER in R AT 1.0 70
4189 EEE BEETH 16.5 590
40| EER NAT 25 130
VIEEER ¥4 )BT 1.0 50
492 EER fBETH 3.0 140
43| EER #WE™ 111.0 3,250
494| EEIR (G 15 60
495 EEE =R 7.0 230
496| EER A= 36.5 1410
97| EFEE Gl 40 150
498 EEE Erth 5.0 250
499| EEIR FiEH 5.0 220
500( EEIR ExH 15 110
501 [ EEIR =i 0.0 10
502| =R I8 = SERET 2.5 20
503| ZR I8 X2 {:) 2.0 110
504/ ZR I8 AF0AR LT 10.0 580
505| R I8 XilsHET 4.0 130
506| ZBIE KIEH 5.0 320
507|ZE I8 ZBt 415 2,180
508| =R IR Fhe 0.5 50
509 ZE I8 SEREET 0.0 10
510|ZEB 18 el 2.0 160
511|ZBIE BIAEET 3.5 320
512| B8 FeFh 45 320
513|ZEB I8 BREH 12.5 390
514|ZB 18 T 0T 2.0 50
515| B8 ES i 115 690
516| =B IE HH R A BT 3.0 70
517|ZEB 8 e 1.0 70
518|FIFR LR FFrLl 58.0 1,150
519(FFR IR it h 15 60
520(F kIR o= 35 90
521 (AR LR EHT 35 40
522|F0FRILIE BAH 15 70
523(FFR LR g ol 5.5 100
524 (R TR IR i AT 1.0 40
525|300 LR 125 B R T 1.0 60
526| B EVE Eam 45 150
527| BEVE BT 45 140
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528| BEVE KFh 10.5 670
529| BRIE HESH 40 210
530| 1R IE XA 0.5 40
531 BRIE e il 2.0 50
532| EEIR EET 3.0 90
533| R E THET 45 120
534 LR E#mh 54.5 1,100
535 [if] L& $RT 1.5 120
536/ [if] L& S2h 1.0 70
537|[LEE =& 9.5 290
538|[LER IR BT 1.5 70
539|[LEE EEh 14.0 560
540|[LEE N=Nn 103.5 2,390
SH[EEIR LEERFERH 6.0 280
S| [LER FiF 5 BT 45 150
543|[LER HHBTH 10.5 300
544|[LER E VNNt 0.5 30
545|[LE R B HET 45 160
546|[L B 2l 27.0 850
547|[LEE IR 2.0 80
548[ILOE T 95 310
549(lLOE TEATH 27.0 1,050
550| L O IE Bt 21.0 600
551 ILAE A 175 1,210
552[LlLAE WE/NEF AT 3.0 30
553 ILA 2 Fh 5.0 180
554|fE B8 =¥t 1.0 20
555|E B IR Rl 1.0 40
556|&JIIIR L&™H 12.0 260
557(F IR S eait] 15 30
558 FJIIE IR 8.5 140
559| & JIIR ZEERT 3.5 80
560|&JIIR F %20 1.0 30
561|&JIIE ZH 15 30
562 F )2 hedit] 3.0 80
563| IR IR 5A 12.0 350
564|Z1E IR J\IE K 1.0 60
565|Z1E I8 MESRH 2.0 100
566|158 FHE™H 6.0 340
567|ZE IR FARITET 3.0 60
568| ZIE I8 NI 57.0 1,310
569| S £1R LN HET 1.0 70
570| S 1R FME 2.0 130
571 | S H1R Tk 1.0 110
52| S 1R Z=mh 1.0 100
5713| SR Edakiil 2.0 150
574|518 A&t 1.0 50
575| S 1R EEH 1.5 90
576 | S ¥1R =it 35.0 2,020
577|t8[HE R A 145.0 2,350
578|tg[E IR 2 1275 5,310
579|4& M & KEHET 30.5 790
580|t&[E IR BEATH 8.0 280
581|t&[E IR fRiFTH 25 100
582|tgE IR Bl 5.5 140
583| 12 E IR G 1.0 20
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594| RIFIE EHEST 53 00
505 E I E HEH e s
506 E I E EE Bt o
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605| X5 & xpTh 5 oo
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607| K2 & E3#% 35 50
288 EEE kT gg 128
NEEE Efflh '
610| &= I 12 %%;; 123 e
611 =I5B BEh 30 0
612[ 255 SERHT & T
613|ZIBE P AT 83 5
14| ZI5E T ' 50
615| = IS %[Shﬁé} % i
616|EREE e 25 o
61/ EREE EEH te o
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